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End Semester Examination of Semester-III, 2015
Subject : ECONOMICS (HONS.) (UG)
Paper : VI
Full Marks : 40
Time : 2 Hrs

The figures in the margin indicate the marks
corresponding to the question.

Candidates are requested to give their answers
in their own word as far as practicable.

Illustrate the answers wherever necessary.

Group A

Answer any two out of four questions : 10x2=20

1. Using a suitable diagram describe the circulatory and
equilibrium condition in the circular flow of income.

10

2. Briefly discuss complete Keynesian macro-economic model

and show that equilibrium can be established even when
here is unemployment. 10

3. Examine the view that wage-price flexibility can

automatically restore full employment equilibrium in the
economy. 10

4. What do you mean by ‘Crowding Out’ effect? How is its

magnitude related to the slope of LM curve? 3+7



(2)

Group B
Answer any two out of four questions : 5x2=10
5. ‘Savings and investment are always equal’. ‘Savings and
investment are equal only in equilibrium’. How would you
reconcile these two statements? 5
6. Show that the value of the balanced budget multiplies may
be less than unity if money market is taken into consideratim;.
7. Discuss whether GNP is a good measure of social welfan;.
8. Derive aggregate demand (AD) ciirve from IS-LM mode;.
Group C
Answer any five out of ten questions : 2x5=10
9. Distinguish between GDP and GNP. 2
10. Define paradox of thrift. 2
11. What is meant by dichotomy in the classical model? 2
12. Define neutrality of money. 2
13. What is liquidity trap? 2
14. What is real balance effect? | 2
15. Explain the concept of involuntary unemployment. 2



16.

17.
18.

(3)

What will be the shape of LM curve if there is no

speculative demand for money. 2
Define personal dispossible income. 2
What is the shape of aggregate demand curve under
classical model? 2
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